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1. $58E  #a>0, b>0,m. nOR HI
(1) a"@" =a™"
(2) a"+a" :%: mn (Hraz0)
3 @M)"=a™
(4) a™b™ = (ab)™

2. IEHER: y=f()=a*(a>0Haz#l xUR), EFEExd L7, H#E(0, 1),

AT AR By Xl
(1) &a>18f, y RiEME (BFRA L),
(2) &0<a<lWf, yriREE (EFEE ).

3.%a>0, a#l, b>0, Ha"=b, Alx=log,b (Hr afgfEE, biEHEE),

4. HEMEE ¢
(1) log, m+log, n=log, mn  CEFEARENN, BEAHTE)

(2) log, m-log, n= Ioga% CHEER, R
(3) log, b’ =tlog,b ( EBLIZCH, EIHRH{EEED)
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(5) log, b= (A
log, a
(6) log, bilog , c=log,c (&)
|
@ Iogbc=|§gag (AT | Hib a BIEEE
5. BHEGE 0 y=log, x (a x>0Fazl) , B ysiEr, LA 0), i
ST y .

(1) ‘& a>1lF, y FyIEig ek,
(2 EO0<a<llf, y RiRBENEL
6. 1<a<10, kON
(1) x=ax10* = logx =k +loga
(2) x=ax10™* = logx=-k +loga
7. loga=n+a, HfnOZ (n&%E) , 0<a<l (a k0= /N
N {n Tk loga Y& 8
a TE loga B EL
8.a=b10"(n0Z, 1<b<10) = loga=1log(b@0") =logl0" +logh
Q. EHIIER ¢
(1) x=1,
D logx VBB N < X IVELEE S B n + 1478
@ xHVEEEI A K18 = k-1<logx <k
(2 0<x<1, logxHVEHEF—n = x{E/NEEREE S niiEA 5 O
10iLﬂJioﬁwaJ%—ﬁ&ﬁ%rm%ﬁ%ﬂo
-1
(1) a,=ar"™
(2) a. b, cHEFELEY] - ac=b*> (a. b, cAEHO0)
1L {a, LASICES], A n TS S RE, S, =ara,+ova, =20,
EIEL- AT )
1- Atk
1247 ARE a, FIZr, &8 n HHRAYARIFI S al+r) s BHHEA a, I r, n BIAT<HEEAAF]

Hl a(l+r)Q+r)" -1
r o

r£1, (S, =
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